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1. Answer the following as directed : 1×6=6

t¡ºt¡ [ƒÚàì¤à¹¹ [>ìƒ¢Åà>å™àÚã l¡üv¡¹ [ƒÚà :

(a) The production possibility curve is

a negatively sloping

l¡ü;šàƒ> Î´±à¯>à ë¹Jà ˜¡oàuA¡®¡àì¯ n¡àº ëJà¯à &l¡àº

(i) convex curve/l¡üv¡º ë¹Jà

(ii) concave curve/"¯t¡º ë¹Jà

(iii) straight line/Î¹º ë¹Jà

(iv) None of the above/*š¹¹ &i¡à* >ÒÚ

(Choose the correct answer)

(Ç¡‡ý¡ l¡üv¡¹ìi¡à ¤à[á l¡ü[º*¯à)
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(b) The long-run equilibrium of firm and

industry under equal cost is determined 

when

Î³¤¸Ú¹ ƒãQ¢A¡àºã> šø[t¡Ë¡à> "à¹ç¡ l¡üìƒ¸àK¹ ®¡à¹Îà³¸
[>‹¢à¹o ÒÚ, ë™[t¡Úà

(i) AR AC=

KØl¡ "àÚ = KØl¡ ¤¸Ú

(ii) MR AR MC AC= = =

šøà[”zA¡ "àÚ = KØl¡ "àÚ = šøà[”zA¡ ¤¸Ú = KØl¡ ¤¸Ú

(iii) MR MC=

šøà[”zA¡ "àÚ = šøà[”zA¡ ¤¸Ú

(iv) LMC LAC=

ƒãQ¢A¡àºã> šøà[”zA¡ ¤¸Ú = ƒãQ¢A¡àºã> KØl¡ ¤¸Ú

(Choose the correct answer)

(Ç¡‡ý¡ l¡üv¡¹ìi¡à ¤à[á l¡ü[º*¯à)

(c) When is the short-run shutdown point

of a firm determined?

ÒùÑ¬A¡àºt¡ &i¡à l¡ü;šàƒ> šø[t¡Ë¡à> ëA¡[t¡Úà ¤Þê¡ ÒÚ?
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(d) Welfare economic has both _____ and

_____ approaches.

(Fill in the blanks)

A¡º¸ào "=¢>ã[t¡t¡ _____ "à¹ç¡ _____ š‡ý¡[t¡ ¤¸¯Òà¹
A¡¹à ÒÚ¡ú

(Jàºã k¡àÒü šè¹ A¡¹à)

(e) The payout a player receives from

arriving at a particular outcome is

called _____.

(Fill in the blank)

&\> ëJºåî¯ìÚ &i¡à [>[ƒ¢Ê¡ ó¡ºàó¡ºt¡ l¡üš>ãt¡ ëÒà¯à¹
[šát¡ [™ "=¢ šàÚ t¡àA¡ _____ ë¤àºà ÒÚ¡ú

(Jàºã k¡àÒü šè¹ A¡¹à)

(f) _____ means when a monopolist sells

a portion of his produced product at

a lower price to one person and the

remaining part at a high price to

another person.

(Fill in the blank)

_____ ¤å[ºìº &J> &A¡ìW¡[t¡Úà ¤\à¹¹ šø[t¡Ë¡àì> &i¡à
Îà³Nøã &\> ¤¸[v¡û¡¹ *W¡¹t¡ A¡³ ƒà³t¡ "à¹ç¡ "¯[ÅÊ¡
"}Å ">¸ &\> ¤¸[v¡û¡¹ *W¡¹t¡ ë¤[á ƒà³t¡ [¤yû¡ã
A¡¹àìi¡àìA¡ ¤å\àÚ¡ú

(Jàºã k¡àÒü šè¹ A¡¹à)
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2. Answer the following questions : 2×5=10

t¡ºt¡ [ƒÚà šøÅ—ì¤à¹¹ l¡üv¡¹ [ƒÚà :

(a) Write two features of monopoly market.

&A¡ìW¡[t¡Úà ¤\à¹¹ ƒåi¡à í¤[ÅÊ¡¸ [ºJà¡ú

(b) What is peak-load pricing?

[šA¡-ëºàl¡ ƒ¹ [A¡?

(c) What is adverse selection?

šø[t¡Aè¡º [>¤¢àW¡> [A¡?

(d) What is the meaning of externalities?

¤à[Ò¸A¡ [³t¡¤¸[Út¡à¹ "=¢ [A¡?

(e) Give two assumptions of the Game

theory.

ëK³ t¡w¹ ƒåi¡à "[®¡‹à¹oà [ºJà¡ú

3. Answer any four of the following questions :

6×4=24
t¡ºt¡ [ƒÚà šøÅ—ì¤à¹¹ [™ ëA¡àì>à W¡à[¹i¡à¹ l¡üv¡¹ [ƒÚà :

(a) Distinguish between individual welfare

and social welfare.

¤¸[v¡û¡Kt¡ A¡º¸ào "à¹ç¡ Îà³à[\A¡ A¡º¸ào¹ ³à\¹ šà=¢A¡¸
[>¹ê¡šo A¡¹à¡ú
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(b) Write short notes on the following :

t¡ºt¡ [ƒÚàì¤à¹¹ *š¹t¡ W¡³å ëi¡àA¡à [ºJà :

(i) Price support

ƒ¹ Î³=¢>

(ii) Price control

ƒ¹ [>Ú”|o

(c) Explain why a low-cost firm achieves

the price leaderships in oligopoly

market.

Ñ¬¿à[‹A¡à¹ ¤\à¹¹ "”z®å¢¡v¡û¡ [>³— ¤¸Ú¹ l¡ü;šàƒ> šø[t¡Ë¡à> 

&i¡àÒü [A¡Ú ƒ¹ ë>tõ¡Œ "àÒ¹o A¡ì¹, ¤¸àJ¸à A¡¹à¡ú

(d) Explain the interrelationships between

market failure and externalities.

¤\à¹ ¤¸=¢t¡à "à¹ç¡ ¤à[Ò¸A¡ [³t¡¤¸[Út¡à¹ ³à\¹
"à”z@Î š́A¢¡ ¤¸àJ¸à A¡¹à¡ú

(e) Explain the differences between

a perceived and a proportionate demand 

curve.

[>¹ã[Û¡t¡ "à¹ç¡ "à>åšà[t¡A¡ W¡à[Òƒà ë¹Jà¹ ³à\¹ šà=¢A¡¸
¤¸àJ¸à A¡¹à¡ú
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(f) State the assumptions of Bertrand

model of oligopolistic market.

Ñ¬¿à[‹A¡à¹ ¤\à¹¹ ¤àìi¢¡r¡ ³ìl¡º¹ "[®¡‹à¹oàì¤à¹
l¡üìÀJ A¡¹à¡ú

4. Answer any four of the following questions :

10×4=40
t¡ºt¡ [ƒÚà šøÅ—ì¤à¹¹ [™ ëA¡àì>à W¡à[¹i¡à¹ l¡üv¡¹ [ƒÚà :

(a) The uncertain behaviour of oligopolistic

firms leads to adopt the technique of

Prisoner’s dilemma. Explain with

example.

Ñ¬¿à[‹A¡à¹ ¤\à¹¹ "[>[ÆW¡t¡ "àW¡¹o¹ ¤àì¤
šø[t¡Ë¡à>Î³èìÒ Pris on er’s di lemma ëA¡ïÅº
"¯º´¬> A¡ì¹¡ú l¡üƒàÒ¹oÎÒ ¤¸àJ¸à A¡¹à¡ú

(b) Explain any two first-order conditions

of Pareto optimality.

ëšì¹i¡’¹ Îà³à[\A¡ A¡à³¸ ‹à¹oà¹ [™ ëA¡àì>à ƒåi¡à šø=³
š™¢àÚ¹ W¡t¢¡ ¤¸àJ¸à A¡¹à¡ú

(c) What are the conditions under which

price discrimination is possible and

effective? Explain.

[A¡ [A¡ W¡t¢¡t¡ ƒ¹ [¤ì®¡ƒãA¡¹o Î´±¯ "à¹ç¡ ó¡ºšøÎè ÒÚ?
¤¸àJ¸à A¡¹à¡ú
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(d) Explain product differentiation.

Îà³Nøã [¤ì®¡ƒãA¡¹o [A¡, ¤¸àJ¸à A¡¹à¡ú

(e) Discuss the problems of market failure.

¤\à¹ [¤ó¡ºt¡à¹ Î³Î¸àÎ³èÒ "àìºàW¡>à A¡¹à¡ú

(f) Explain the price-output determination

under monopolistic competition.

&A¡à[‹A¡à¹ ¤\à¹t¡ ƒ¹ "à¹ç¡ l¡ü;šàƒ>¹ ®¡à¹Îà³¸
ëA¡ì>îA¡ ÒÚ, ¤¸àJ¸à A¡¹à¡ú

H H H
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GROUP—A

[¤®¡àK—A¡

1. Answer the following questions : 1×6=6

t°∫π ö¯≈óŒ≥Ë“π l°¸v°π [∫J‡ :

(a) Define tax.

A°ππ Œ}`°‡ [∫J‡°˙

(b) Write the meaning of liquidity trap.

t°‡π∫∏ Û°‡ñÉπ "=¢ [∫J‡°˙

(c) Name one source of public debt.

W°πA°‡π„ ò°oπ &i°‡ l°¸;Œ [∫J‡°˙
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(d) What is consumption?

l°¸öÏÆ°‡K A°‡A° A°⁄?

(e) Write one difference between public and 

private investments.

W°πA°‡π„ "‡πÁ° §∏[v°̊°Kt° [§[>Ï⁄‡Kπ ≥‡\π &i°‡ ö‡=¢A°∏
[∫J‡°˙

(f) Define budget.

§‡Ï\i°π Œ}`°‡ [∫J‡°˙

2. Answer the following questions : 2×5=10

t°∫π ö¯≈óŒ≥Ë“π l°¸v°π [∫J‡ :

(a) Write two differences between Harrod

and Domar growth models.

Î“πÉ "‡πÁ° Îl°‡≥‡ππ [§A°‡≈π "‡[“¢π ≥‡\π ÉÂi°‡ ö‡=¢A°∏
[∫J‡°˙

(b) Write two characteristics of consumption

function.

l°¸öÏÆ°‡K Û°∫>π ÉÂi°‡ Ì§[≈ °∏ [∫J‡°˙

(c) Write two differences between planned

and unplanned investments.

ö[πA°[øt° "‡πÁ° "ö[πA°[øt° [§[>Ï⁄‡Kπ ≥‡\π ÉÂi°‡
ö‡=¢A°∏ [∫J‡°˙

(d) Write the meaning of budget deficit.

Q‡[i° §‡Ï\i°π "=¢ [∫J‡°˙

(e) Write two objectives of monetary policy.

≥Ââ‡>„[t°π ÉÂi°‡ l°¸ÏÑ≈∏ [∫J‡°˙
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3. Answer any four of the following questions :

6×4=24
t°∫π ö¯≈óŒ≥Ë“π [ô ÎA°‡Ï>‡ W¡à[¹i¡à¹ l°¸v°π [∫J‡ :

(a) Explain briefly Domar’s model of growth.

Îl°‡≥‡Ïπ "‡K§Ïÿn°‡Ø‡ [§A°‡≈π "‡[“¢Ïi°‡ W°≥ÂÓA° [∫J‡°˙

(b) Write briefly the assumptions of New

Keynesian economics.

>§∏-ÎA°“¸Ï>[W°⁄‡> "=¢>„[t°π "Øã‡πo‡Œ≥Ë“ W°≥ÂÓA°
[∫J‡°˙

(c) Explain Say’s law of market.

ÎW°íÏ⁄ "‡K§Ïÿn°‡Ø‡ §\‡π [§[ãÏi°‡ §∏‡J∏‡ A°π‡°˙

(d) What are the limitations of fiscal policy?

π‡\ÏA°‡»„⁄ >„[t°π Œ„≥‡§á˝°t°‡Œ≥Ë“ [A° [A°?

(e) Briefly discuss the factors determining

inducement to invest.

[§[>Ï⁄‡K [>o¢⁄A°‡π„ l°¸ö‡É‡>Œ≥Ë“ W°≥ÂÓA° [∫J‡°˙

(f) Explain briefly permanent income

hypothesis of consumption.

ÎÆ°‡Kπ —Ç‡⁄„ "‡⁄π ö¯A°øÏi°‡ W°≥ÂÓA° [∫J‡°˙

GROUP—B

[¤®¡àK—J

4. Answer any four of the following questions :

10×4=40
t°∫π ö¯≈óŒ≥Ë“π [ô ÎA°‡Ï>‡ W¡à[¹i¡à¹ l°¸v°π [∫J‡ :

(a) Explain Harrod’s model of growth.

Î“πÏÉ "‡K§Ïÿn°‡Ø‡ [§A°‡≈π "‡[“¢Ïi°‡ §ÂÏ\‡Ø‡°˙
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(b) Critically discuss Solow’s model of

growth.

W°Ï∫‡“¸ "‡K§Ïÿn°‡Ø‡ [§A°‡≈π "‡[“¢π &i°‡ Œ≥‡Ï∫‡W°>‡uA°
"‡Ï∫‡W°>‡ "‡K§Ïÿn°‡Ø‡°˙

(c) Discuss psychological law of

consumption given by Keynes.

ÎA°“¸>ÏW° "‡K§Ïÿn°‡Ø‡ l°¸öÏÆ°‡Kπ ≥Ï>‡Ó§`°‡[>A° [§[ãÏi°‡
"‡Ï∫‡W°>‡ A°π‡°˙

(d) Discuss the objectives of monetary

policy in a developing economy.

l°¸ƒ⁄>≈„∫ "=¢>„[t°t° ≥Ââ‡>„[t°π l°¸ÏÑ≈∏Œ≥Ë“ "‡Ï∫‡W°>‡ 
A°π‡°˙

(e) Discuss the role of fiscal policy in

stabilizing the economy.

"=¢>„[t° &J>A° ŒÂ[—Çπ A°[π πJ‡π Î¤°yt° π‡\ÏA°‡»„⁄
>„[t°π ÆË°[≥A°‡ "‡Ï∫‡W°>‡ A°π‡°˙

(f) Discuss liquidity preference theory

given by Keynes.

ÎA°“¸>ÏW° "‡K§Ïÿn°‡Ø‡ t°‡π∫∏ö¯„[t° t°wÏi°‡ "‡Ï∫‡W°>‡
A°π‡°˙

H H H
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GROUP—A

[¤®¡àK—A¡

1. Answer the following as directed : 1×6=6

t¡ºt¡ [ƒÚàÎ³èÒ¹ [>ìƒ¢Å ">å™àÚã l¡üv¡¹ [ƒÚà :

(a) Is normal distribution a distribution

of discrete random variable?

Ñ¬à®¡à[¯A¡ ¤si¡> [¤[ZáÄ ™àƒõ[ZáA¡ W¡ºA¡¹ ¤si¡> ÒÚì>?

1-21/1010 ( Turn Over )
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(b) Type I error is related to rejection of

a true hypothesis.

(Write Correct or Incorrect)

šø=³ ‹¹o¹ yç¡[i¡ Ît¡¸ ">å³à>¹ šøt¡¸àJ¸à>¹ ºKt¡
Î š́[A¢¡t¡¡ú

(Ç¡‡ý¡ ë> "Ç¡‡ý¡ [ºJà)

(c) When is an estimator said to be

unbiased?

"àA¡ºA¡ (&[Ê¡ì³i¡¹) &i¡à ëA¡[t¡Úà [>¹ìšÛ¡ ¤å[º ëA¡à¯à 
ÒÚ?

(d) Define R 2 .

R 2¹ Î}`¡à [ƒÚà¡ú

(e) When the variance of the disturbance

term is not constant, the problem

is known as the problem of

heteroscedasticity/multicolinearity.

(Choose the correct answer)

ë™[t¡Úà [l¡Ê¡àì¤¢X i¡à³¢¹ [®¡Ät¡à ‹øç¡¯A¡ >ÒÚ, ët¡[t¡Úà
Î³Î¸àìi¡à [¤È³[¤W¡[ºt¡à/¤×î¹[JA¡t¡à [ÒW¡àìš \>à
™àÚ¡ú

(Ç¡‡ý¡ l¡üv¡¹ìi¡à ¤à[á l¡ü[º*¯à)

(f) What is specification error?

[>[ƒ¢Ê¡A¡¹o yç¡[i¡ [A¡?

1-21/1010 ( Continued )



( 3 )

2. Answer the following questions : 2×5=10

t¡º¹ šøÅ—Î³èÒ¹ l¡üv¡¹ [ƒÚà :

(a) Mention two limitations of

t-distribution.

t-¤si¡>¹ ƒåi¡à Îã³à¤‡ý¡t¡à l¡üìÀJ A¡¹à¡ú

(b) What is null hypothesis?

Åè>¸ ">å³à> [A¡?

(c) Why is the disturbance term u added

in econometric models?

"=¢[³[t¡¹ "à[Ò¢Î³èÒt¡ [l¡Ê¡àì¤¢X i¡à³¢ u [A¡Ú ë™àK A¡¹à
ÒÚ?

(d) Mention two causes of hetero-

scedasticity.

[¤È³[¤W¡[ºt¡à¹ ƒåi¡à A¡à¹o l¡üìÀJ A¡¹à¡ú

(e) What is a dummy variable?

l¡à[³ W¡ºA¡ [A¡?

3. Answer any four from the following

questions : 6×4=24

t¡º¹ šøÅ—Î³èÒ¹ š¹à [™ ëA¡àì>à W¡à[¹i¡à¹ l¡üv¡¹ [ºJà :

(a) Mention any six properties of normal

distribution.

Ñ¬à®¡à[¯A¡ ¤si¡>¹ [™ ëA¡àì>à áÚi¡à ‹³¢ l¡üìÀJ A¡¹à¡ú
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(b) Mention the assumptions of ordinary

least squares (OLS).

Îà‹à¹o >è¸>t¡³ ¤K¢[¤[‹ (OLS)¹ "[®¡‹à¹oàÎ³èÒ¹
l¡üìÀJ A¡¹à¡ú

(c) Explain two tests to detect serial

correlation.

‹à¹à¤à[ÒA¡ ÎÒÎ´¬Þê¡ [W¡>àv¡û¡ A¡¹à ƒåi¡à š¹ãÛ¡à ¤¸àJ¸à
A¡¹à¡ú

(d) Explain the causes of multicolinearity.

¤×î¹[JA¡t¡à¹ A¡à¹oÎ³èÒ ¤¸àJ¸à A¡¹à¡ú

(e) For a K -variable model Y X u= +b , show

that $ ( )b = ¢ ¢-X X X Y1 .

K -W¡ºA¡¹ &i¡à "à[Ò¢ Y X u= +b ¹ A¡à¹ìo, ëƒJå*¯à

ë™ $ ( )b = ¢ ¢-X X X Y1 .

(f) How does specification error arise

when a relevant variable is omitted?

Give example.

šøàÎ}[KA¡ W¡ºA¡ &i¡à ¤àƒ [ƒìº [A¡ƒì¹ [>[ƒ¢Ê¡A¡¹o yç¡[i¡
l¡üŠ±¯ ÒÚ? l¡üƒàÒ¹o [ƒÚà¡ú
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GROUP—B

[¤®¡àK—J

4. Answer any four from the following

questions : 10×4=40

t¡º¹ šøÅ—Î³èÒ¹ š¹à [™ ëA¡àì>à W¡à[¹i¡à¹ l¡üv¡¹ [ºJà :

(a) Y b b X ut t t= + +0 1 . Find the OLS

estimator $b1 and show that it is

unbiased. 10

Y b b X ut t t= + +0 1 . OLS "àA¡ºA¡ $b1 l¡ü[º*¯à

"à¹ç¡ ëƒJå*¯à ë™ Òü [>¹ìšÛ¡¡ú

(b) Discuss the framework of a multiple

linear regression model. Explain the

properties of OLS estimators. 5+5=10

¤×W¡ºA¡ãÚ í¹[JA¡ Î³àÅøÚo "à[Ò¢ &i¡à¹ Kòà=[>ìi¡à
"àìºàW¡>à A¡¹à¡ú OLS "àA¡ºA¡¹ ‹³¢Î³èÒ ¤¸àJ¸à A¡¹à¡ú

(c) Discuss the uses of t-distribution,

F -distribution and chi-squared

distribution. 10

t-¤si¡>, F -¤si¡> "à¹ç¡ A¡àÒü-ÑAå¡ì¯¹ ¤si¡>¹ ¤¸¯Òà¹
"àìºàW¡>à A¡¹à¡ú

(d) Is multicolinearity really a problem?

Discuss. 10

¤×î¹[JA¡t¡à šøAõ¡t¡ìt¡ &i¡à Î³Î¸àì>? "àìºàW¡>à A¡¹à¡ú
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(e) How is heteroscedasticity detected?

What are the remedial measures of

heteroscedasticity? Discuss. 6+4=10

[¤È³[¤W¡[ºt¡à [A¡ƒì¹ [W¡>àv¡û¡ A¡¹à ÒÚ? [¤È³[¤W¡[ºt¡à¹
šø[t¡A¡à¹³èºA¡ ¤¸¯Ñ‚àÎ³èÒ [A¡ [A¡? "àìºàW¡>à A¡¹à¡ú

(f) Discuss the tests of specification errors. 10

[>[ƒ¢Ê¡A¡¹o yç¡[i¡¹ š¹ãÛ¡àÎ³èÒ "àìºàW¡>à A¡¹à¡ú

H H H
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